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® 2x-y @ 2x - 6my @Qm
@2x—3y ® 4my -3y
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@x2 +10x + 25 @x2 +8x+ 16
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45 +ax+1=(2x+1)?
a=2%x2x1,a=4
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b=4%b=16
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@ 4a® - 2ab = 2a(a - b)

@ x? +20x— 100 = (x + 10)?
@ —x*+1=(x+1)(-x-1)
@ x?-Tx+12=(x-2)(x-6)
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4x%> —ax+6 = (4x - 3)(x + p)
=4x? +4px-3x-3p
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2a® + 4a - 2ab — 4b = 2a(a+2) — 2b (a + 2)
=2(a+2)(a-b)
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6x2 +7x+2=3x+2)(2x+ 1)
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(x-3)(x+a)-2=(x+0a)(x+8)
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a=a+pB+30|B2
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@ (x-1)(x-6) ® (x+3)(x+4)

FAolE 2 4 Tx + 12 oA A5 12 & HA H,
Aol x® +8x+ 7 A x o A 8 & WA BTt

wpapa] 0] 7] o] ZFAZ &% 4+ 8x + 12 = (x + 2)(x + 6)
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@3x—-2x—-8=(x—2)(3x+4)

LA=-2,B=3
© 4x> + Cx -3 = (2x-1)(2x + 3)
. C=4,D=-3
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da+4b =48 O|EZ2 a+b =12

E g2 b2 =74
(a+b)?-2ab = a® + b*
74 = 144 — 2ab

ab = 35

(a=b)? = (a+b)?-4ab=144-140 = 4
a-b>0,a-b=2
na?-b?=(a+b)(a-b)=12x2 = 24(cm?)




